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“Jevel {Q) of the trigger is at logic 1,-
capacitor C1-will charge via R1., -
. When switch S1 is closed the input *
.~ of @55@2 wifl now be taken to
.. logic 1 {because the capacitor is
" fully charged):and the Q output ..
: _of_course: become: logic ‘0".-
he_capacitor will now discharge
Zbut: not. completely :because the
zclosed switch will hold the. leve! to°
£ 93 ,existing at. the wiper of . P1,
m However this drop in'voltage at a_mw
Finput'of;
.aa_::.: 10 change staté again because? will hot affect the trigger since it is

%the input evel will still be above 5«%
.w_osa« switching: »_._eroa..
% mosa.:n il

is ‘intermedia m»m <o.80M fevel will
nEBm.: Es__m the switch is closed.

v ‘released Q will then discharge com-

»:o,uwﬁ will: :on cause-its W ;pletely*The 0.V across the capacitor

€ % N0 _oswm_,.oo:_.&ﬁwn to'the nuga.»o_‘
of: Arnﬂw.w?:o switch is open). Now when the
& e iswitchsis closed the 0-V will reach

.mwwfm. M» n_..m .:_ucn of wru gate and its output.
._a
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\av swi X o:oo ‘again ag:na state. It is

& ,90 circuiit to function but it will be
”mnznm.v ioc:a in’ uanaoo 93 n_.._m presents

..wn..mﬁwf. &
inexpensive: "

‘45 MHz 007 b
n_.<m~m__. filter «: -«
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able for SSB reception can be bu

Gt by w_b%w@n

of a coarse 45 MHz filter using two -

i1 from relatively few components: *
..‘.Omo:_wncﬂna\am_m often have one :;
Ly {" or.more spurious-resonances.and :
A,. this ‘makes . their.. application in -

filters undesirable because.of the &
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A receive

the s.crmﬂ received frequency,
has the great advantage that the sep:
aration between the received fre- ;
quency and the image frequencies, .-
fe £.2IF, is large, A filter with a -
high centre frequency m:a narrow ..
vm&&mnn ir_n: is-emine u< m:#. 3

. broader the filter response, the
greater, this risk becomes.: It is .-
possible to use 27 MHz n:_a.ocw_.. .
tone crystals (standard in most CB -
-equipment) in their fifth overtone.
mode. . Figure 1.shows the circuit ,

“ passband is. far.from satisfactory:.

*o.::._.wux of.unwanted pass-bands.. The ~

- 27 MHz crystals.. The photo shows:.

that. the. attenuation outside the -

there is hardly any difference be-
tween the required and the unwanted
passbands.: With :the use of more .

" crystals, the pass-band of the filter

becomes narrower and the likelihood
of. spurious frequencies oo_:o_n_su
becomes smaller. o

Figure 2 shows the o__dc; o* a-
ladderfilter using five crystals, S-:o:
reduces the liketihood of nﬂ::ccm
pass-bands greatly. @ i i

" The 6 dB bandwidth of the r:ﬁ o*
figure 2 is about 3 kHz, while that at
z,_m 40 dB _853 is o:_< 5 kHz. The

‘‘‘‘‘ i Ba

..mo £ and 200 2 u:a the output
impedance is 50 2. Its insertion loss
is 7 dB.

Coil L1 is a bifilar windingof2x 8
turns of enamelled copper- wire of
0.2 mm diameter. As this coil is
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not critical, it may be wound on a
ferrite bead. Moulded RF chokes
may be used for L2, .. L5, Coil |
L6 is again a bifilar SSQ.:@ 2x8
turns, enamelled copper wire of
0.2...0.5 mmdiameterona * °
T59-12 former. The filter can be"
built on a small piece of Vero board.
The coils must be screened from one
another by earthed screens.. The &
crystal _..ocm_snm 3:& m_S vm

Further signal processing is best"
done at a much lower second IF of,’
say, 10.kHz, obtained- by-mixing
the 45 MHz IF with the output of
a crystal oscillator operating at
45 MHz * IF2, The oscillator ca
also use a CB type third o<m_.3:mmw
crystal operating in its fifth over- .
tone mode. :
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.|-keypad. Suppose line A is connected -
1 to key 2, line B to _8< 9, and line C

33@ transistors m:n an opto-coup- -

three digit combination. Locking is
achieved by means of a cascade of
analogue switches, each of which is*
connected, through a programming ™
matrix, to one of the keys on the , .

witd

to key 5. If key 2 is now pressed - )
ES1 closes and stays closed because ~ 2
of the current delivered to it 33:@_..
R7. If key 9 is then pressed ES2
closes and remains closed (because '
ES1 is already closed). Now all that,,
is needed is to press key 5, where-
upon ES3 closes thus activating the
auﬁo.oo:u_m_.. whose S.zm_ao_. then:
conducts.’ %
The keys :on used in So ABC code’;
must all be connected to the D line.’ !
When one of these keys is pressed,:;

ES4 to an active high logic level .:
{which it keeps because of R6) and '
T1 conducts and thus disables the.
circuit completely; in fact even if ::
ES1 is again activated, by the rel-.
evant key, it will not auto-hoid as :
long as T1 is conducting. To start
again, pushbutton S1 must first be’
pressed, thus opening ES4 and -
biocking T1. It is also useful to be
able to reset the lock externally and
this is achieved by means of T2,.
which is connected paralte! to the'-
reset circuit and controlled by the:
# key. Key » could be used as an

5 that is about all that is needed 355 i gad.
:| to make this electronic lock with a

L. o.d.:»?. g: n:mr nSEmc:m _.m_m< )
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Re through transistor T3; thus

‘driving the bell transformer. :

One further word about the oper-
ation of the lock: consider again
our combination of 295, and assume
that the first key pressed was not
2 but 9, which is not wrong, merely

" .misplaced. The B-8 connection

remain closed when key 9 is reieased
because ES1 isopen. . ... .0 :
An optocoupler is used here in pref-
erence to other-alternatives which
might be chosen in other appli-
cations, and proves to be simple, .
inexpensive and effective in this
circuit. -




